MA 103 - Fall 2008 - Exam 1 FormA (Chapters 1,2) Name /gol":t\w

Show all work. NO WORK SHOWN = NO CREDIT
Total Possible Points = 125 Points

1) Solve the given formula for N 3N-MP =NS-44 ' (8 points)

BN_NS = mMP— 4
N(C3—3) = mP—4A

e s it

/\/ = MP—%
ST e

2) For the linear function 3x—-7y=21 SHOW work to find each of the following
a) Write the above function 3x—7y =21 in slope-intercept form (3 points)
F“?éf = 33X +1
3
b) The slope is = (2 points)
_7————
4
c) The y-intercept is @ ) ~ 3) To Fnd X i/ "/tc"'f‘f /&f d=° (2 points)
3X-7(9=2/
d)The x-intercept is ( 73 Oz 3k = 24 (2 points)
="
3) Complete the following table: (6 points)
SCIENTIFIC NOTATION CALCULATOR NOTATION | STANDARD FORM
-5 ,
~2.35*10 ~2.3 £ -6 | =0.00002 B<
|,25% X l07 . 25% E 7 12,580,000
2.09X|0L{' 209E4 20700




- 4) Do the following tables represent a Function or Not? EXPLAIN. (6 points)

FUNCTION OR NOT? EXPLAIN

x | F(x)

wlalwlw

FUNCTION OR NOT? EXPLAIN
x | G(x)
28
«1ED)
411
31D
2112
Mot o A S~

5) On the grid below, graph the given lines. Label each graph with the appropriate equation.

(9 points)
a. y=‘73x+5§\4 N b. y=2 c. x=—-4
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| 6) What is the slope of the line segment shown in the graph? The answer MUST contain units.
(Must Show Procedure)

(0,20)
Value of - f
Carin o (5) j fj
Thousands 2°‘N '
of Dollars »T -~ =~ = M = [§—12° = "".f‘g: .;:'/ ’/L;w,w«ﬂ a(a([ﬁ:q
wt - - - _ 9
. . . . . . r ﬂ

(6 points)

N
b

\I’\Iumber of Years of Use

Interpret the slope as a rate of change using words within the context of the problem.

E@QW/% cot Moses Plovo ¢ value -

7) The following function gives an approximation for the length of the thigh bone of a woman,

as a function of z height, x. f(x)=0.432x-10.44 (Both variables in inches)
r

a) Estimate the length of the thigh bone of a 69 inches tall woman. (Round to theGearest tenth
of an inch). Answers MUST contain units. : (@ points)

’?(47); O.H‘?Z(é@ - |oj.(,L(_

b) An anthropologist discovers a thigh bone of a woman. If the bone is 16 inches long, how tall
would you estimate the man to have been? (Round to the nearest tenth of an inch)
Answers MUST contain units. (4 points)

([ = 0430 X —[o.4¥
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8) The graph below is a graph of  f(x)
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a, Find the approximate value of f(—3) = -7 L/ @ points)
a4
b. Approximate the solution to f(x) ==3. The solution is X =-75 (@ points)
c. State the domain in Interval notation: ( — 00 g, o0 ) (1 point)
Inequality notation:  — w8 ¥ Lo (1 poiat)
d State the range in Interval notation: (—- /3] , oD J (1 point)
Inequality notation: 00 < )( Z o0 (1 point)
: What are the x-int ts? - 9 . ) . i
e x-intercepts ( 2/ )@,o F (4}9 (2 points)
f What is the y-intercept? C a ,} J (2 points)




9 Let f(x)=-2x"+5x-8 and g(x)=-3x+9 (Must Show Procedure) (2 points each)

a.  Find f(-l)z :zl( ;_, J”‘+sc-u-f b.  Find g(-5)_ ..3(.5)1-7_._ oy
c. Find x when g(x)=14 d. Find the x-intercept of g(x) |
IL&;(’)—Bx-ﬁ 0=-3X49
X = %.;.35 X=13
e. Find g(a+l) f Find gla)-1
ﬂ(a+l)='3(a+|)+7 901 = 2049 — |
= —30-3+9 = - 3a+<aj
=—50 + (,JW -

10) Jury Awards in Medical Malpractice. The average jury awards in medical malpractice
were 1.2 million dollars in 1994, and 3.4 million dollars in 1999.

a) Assuming they follow a linear pattern, find an equation for the average amount of jury award
A(t) in millions of dollars as a function of t, number of years since 1994. (7 points)

(0,19 n =044 _
(5'/‘3‘4) @U: 0-44‘6 +|.2)

b) What is the y-intercept? What is the meaning within the context of the problem? (3 points)

ydored o (0,11

c) Based on the model in part (a), find the average jury award in the year 2000. (3 points)

2000 —| CM% =—’é ﬂ - . :
Al) = D4 Y+ =32 "‘"““”3
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11) Write an equation of the line that passes through (=2, 3) and is parallel to the line

4X + 7Y =10 Give final answer in the slope intercept form. (Must Show Procedure)
(10 points)

3;—-8-' -\'L :.::*%B:’B’—g— ::2-!-:-%::&—

12) Simplify each of the following. Write answers with positive exponents. Do not use decimals.

(Assume no variables are equal to zero.) (Must Show Procedure)
(12 points)
2 5-3 2
2) b%—_{z] b) (-5aB)e ()

~sb =
-3 0 % a
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13) Solve the following equation -——Zf- = %x -2 (Must Show Procedure)

W& bt sdos by (2 @i
|2 (’—3‘% = IZ-(—,?—)Q— |2(2')

'f;ZiE :fg"f — ¢

R
X =24

2 =3
14) If the slope of a line is m = —, then, the sl f dicular line i
) pe of a line is m 3 en, the slope of a perpendicular line is T
(2 points)
15) The slope of a horizontal line is m = 0 (2 points)
o ﬂ
16) The slope of a vertical line is m=dn (e, , @ points)




